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Each problem is worth 4 points.

1. Use Euclidean Algorithm to compute GCD(2006, 6002).

2. Count all integers ≤ 300 which are multiples of 3 or 4 or 10.

3. Given R = {(1,2), (2,3), (3,2), (3,4), (4,1), (4,4)}. Find the set

a) R2

b) R3

c) R � R�1

d) R  R�1

4. Given A = {1, 2, 3, 4}. Find an example of R  A  A such that
a) R is symmetric, transitive, not reflexive.
b) R is reflexive, symmetric, not transitive.

5. Given A = {1, 2, 3, 4} and two zero-one matrices of R  A  A.

[1 0 0 0
1 1 0 1
1 0 1 1
0 0 0 1

] [1 0 1 0
0 1 0 1
1 0 1 0
0 1 0 1

]
a) One of them is a partial order. Draw the Hasse diagram.
b) Another one is an equivalence relation. Find the equivalence classes.


